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59 Nppw®G t pinGph pwpdiwl wpwqugnidp:

60 Nppw”G t phih updwG mdn:

61 Nppw”G t Swjuwpwyh wnwlgph Yypw wgnnn 660w6 nudp:
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(62-65) Gpynt pwpwl hwjwpnn nuw GyjulGtph thel htinunpnipjnilp 40 wit: 10 ud

62

63

64

65

YhquijtitnuyhG htnwynpnipyunip dwfu nuw Gyuyh weelmdyd, 8 ul htnwynpmpjuip
mbtnqunnjuo £ 20 di pupdpnipyjudp upwpn, npl niqnuhwjwg E nuwGyuyGtph” dh
mnnh tpyuwyGpny ninnyud owmhywwl wewlgpGlnhG: U9 nuwljuyh
YhquitimwyhG htinwynnnipyniGp 30 ud L:

Nppw”G t dwfu nuy Gyuynid wnwpwjh ywwlbph hinwynpnipjwG dnnnip
nuy Gjuihg: Mwunwuuwlp puqiuyunyt) 10-ny:

Nppw®G t dwu nuw Gyuynd unwgywo wnwpyuwjh wyuwwnytph hinwynpnipyniGp we
nuy Gjuwyhg: Mwunwujuwip puqduwwyunyty 10-ny:

U9 nuwGjuyhg h°Gs hinwynpnipjw b Ypw £ mbtinunpjuo typwGp, tiptk Gpu Jpw
unwgyt] tupwph hunwl wuwnybtpp: Muunwuuwip puqiuwunyby 10%-ny:

Nppw”G t typwGh Yypw upjwph yuwwnmybph pupdpnipyniln: Mumwutuwln
pwqiwwwwmnlyby 102-n11:
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(66-69) Uhwnnni hnbuqujwG quqh htwn Junwpyn t 1-2-3-4-1 P

66

67

68

69

2n9wlwyhG wpngbup (GY. 2), npwnbn 1-2-p L 3-4-phanfunp,  pyj----
huly 2-3-p L 4-1-p hgnpwp wpngtubtin GG6: Mpngtiuh

pGpwgpnid GGpnuin thnfuynd k P1=2:10° Mu-hg vhGsl P,{----
P,=6-10° Mw, huy dwjuyp' V=107 ’-hg dhsk V5=2-107 *; !

Nppw”G otipdwpw Gy E unmwlnd quqp Uty ghYyih pnGpugpnid:

Nppw”G & quqh Ynnihg dkY ghyh pGpugpniud zpgwwyunh thnfuwlgywd

otindwpwGwyh pwgwpdwl wndtipn:

Nppw”G . qugh uunwpwo wfuwwnwbpp vty ghyih pGpugpnid:

Nppwn®y t thnfuynid qugh GupphG LGapghw dty ghyh pGpugpnid:
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70

C mGuynpjudp hwunp onwjhG YnGntGuumnnp thgpwynpjud L mGowmywo £ U
wpiwl hwunmwmni G hnuwGph wnpyniphg: {wumnmwmntp jud dumbtp htnlguy
W nmuGhpn:

1. CpownhpGtiph htinwynpnipjniGp vtowgGtihu nupumh jupjuwonmpjnilp sh thnfuyh:

2. CpounhpGtinh dhol nhtjbywmnphy dngltjhu EGupuywi nupwnh EGapghw
YthnppwGuw:

3. UnlntGuwwmnpl wnpjniphg wiowwntihu Gpw phptinGtph dhol Eiayunpuul nupwnn
yybpwtw:

d
4. <wpp onwjhG YnGntGuwmnph mGuwynpjnlp” C= % , npntin d-G phptinGtph

htinwynpnipyniGG t, huy S-n* 2nownhph dwtipbun:
5. Cpownhnltinh htnwynpmpjnilp dhowgbtjhu, YnlnbhlGuwwmnph thgpp JthnppwGw:
6. Cpgwunhpltiph dhel nhijiwnphy dingGlithu 2pgwnhpltph dhel jwpnuip Ythnppwbw:
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